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36. Choose the correct answer of the following simple sentence after its transformation t,

compound sentence :

Besides robbing the poor child, he also murdered her.

(1) He robbed the child, he murdered her.

(2)  He not only robbed the poor child but also murdered her.
(3) Besides he murdered the poor child, he also robbed her.

(4) None of the above

37. Match the following :
a. Fond i on
b.  Depend ii. with
c. Angry iii. to
d. Complain iv. of
(1)  a-i, b-i, c-ii, d-iv (2) a-iii, b-iv, c-ii, d-i
(8) a-iv, b-iii, c-i, d-ii (4) a-iv, ‘b-i, ‘e-i, d-iii
38. Name the Relative pronoun in the sentence given below :
I, who am your king, will lead you.
1 1I (2) who (3) your (4) you
39. In the following question, a paragraph or a sentence has been broken up into different
parts. The parts have been scrambled and numbered as given below. Choose the correct
order of these parts from the given alternatives :
a. it is of vital importance
b.  if this cannot be prevented
c. Since man depends for his food
d. upon articles
e.  that none of this soil should be wasted
f. produced from the earth’s layer of fertile soil
(1) c,a,b,d,fe
(2) ca,edfb
(3) ¢d,faeb
(4) c,e,a, b, f,d
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40. Fill in the blanks :
The receptionist the information desk was both smart ___ polite.
(1) in, but (2) at, and
(3) at, but 4) within, although
41. For a professional sportsperson, fitness is a must.
Choose the correct question tag for the given statement.
(1) Isn’t he? (2) Isn’tit?
(3) Doesn’tit? (4)  Mustn't it?
42. Change the following statement to Reported Speech :
Ramu said, “My classmate wrote a letter to the Minister.”
(1) Ramu said that his classmate had written a letter to the Minister.
(2) Ramu said that my classmate has written a letter to the Minister.
(3) Ramu said that his classmate was writing a letter to the Minister.
(4) Ramu said his classmate had wrote a letter to the Minister.
43. Identify the appropriate prefix and fill in the blanks given in the sentence.
It is very difficult to stand the onslaught of terrorist attack.
(1) wunder (2) with (3) un 4) inter
44, Fill in the blank :
a big hue and cry, the international airport was finally opened for the public.
(1) Because
(2) Amid
(3) Between
(4) Toward
45. Fill in the blanks.
The announced the of the sports competition held in the college last week.
(1) principle, prices (2) principal, prices
(8) principal, prizes (4)  principle, prizes
Space for Rough Work / 8t33 5008, Bv
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46.

47.

49.

50.

51.

Fill in the blank.

It was warm, so | my jacket.
(1)  took out (2) took of
(3) took off (4) took away

Fill in the blank with the most appropriate alternative.

Many accidents by dangerous driving.
(1) is caused (2) have caused
(3) are caused (4) has been caused

Choose the right question tag for the given sentence.

Kumar hardly attends functions, ?

(1) doesn’t he (2) didn’t he

(3) does he (4) did he

Fill in the blank.

He filed a civil against Mr. Chopra.

(1) suit (2) suite (3) soot (4) shout

Choose the alternative which best expresses the meaning of the idiom/phrase given below -
A storm in a teacup

(1) A great noise

(2) A danger signal

(3) Much excitement over something trivial

(4) An unexpected event

In the following question some part of the sentence may have errors. Find out which part of

the sentence has an error and select the appropriate option. If the sentence is free from
error, select ‘No error’.

One of the student / attended / the international seminar held in Dubai. / No error
a b c d

(1) a-—One of the student
(2) b - attended

(3) c—the international seminar held in Dubai.
(4) d-No error
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52.

54.

55.

Pick out the opposite meaning or antonym of the word given below :

Predecessor
(1) Processor (2) Compressor
(3) Successor (4) Oppressor
Choose the misspelt word.
(1) Chrysanthemum (2) Chastisement
(3) Conflagration (4)  Constelation

Out of the four alternatives, choose the one which can be substituted for the given words.
The period between two reigns

(1) Era (2) Intermission

(3) Anachronism (4) Interregnum

Choose the most appropriate meaning of the word from among the four options.
Sagacious

(1) Sensible (2) Spontaneous

(8) Disciplined (4)  Helpful

Choose the right word to fill the blank.

Transfer the liquid into the vessel using a

(1) Ciphon (2)  Sciphon (3)  Sciphan (4)  Siphon

Directions : In the following passage there are blanks, each of which has been numbered.

These numbers are printed below the passage and against each, some words are suggested,
one of which fits the blank appropriately. Find out the appropriate words [Refer the same

paragraph given below for questions no. 57 to 60].

Women have _(57) made_ _(58) in the corporate workplace but certainly not as much
as they had expected. We have new laws, rules and __ (59)  relating to women in the

workplace but what we have not changed much is the male __(60) .

57. (1) perhaps (2) seldom (3) optimistically (4) undoubtedly

58. (1) progress (2) efforts (3) attempts (4) decisions

59. (1) activities (2) cases (8) policies (4) problems

60. (1) hatred (2) patterns (8) achievements (4) behaviour
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61.

Choose the description which describes the given word most appropriately.
Exodus

(1)  Movement of very few people from one place to another.

(2) Large scale departure of people from one place to another.
(3) Expulsion of people from a country.

(4)  Arrival of a large group of foreigners to a country.

62. Fill in the blanks.
Her work as a translator underscores her commitment cultural dia.llogue. She has
succeeded in bringing European and American sentiments the Indian context.
(1) with, to (2)  on,in (8)  to,into (4)  about, to
63. Find the correctly spelt word from the following.
(1) Supernumarary (2) Supernumerary
3) Suparnumerary (4) Supernuameracy
64. Change the following statement to Reported Speech.
The mother said to the son, “I cannot pay you the pocket money.”
(1) The mother told the son that he could not be paid the pocket money.
(2)  The mother told the son that she could not pay him the pocket money.
(8) The mother forbade the son to pay the pocket money.
(4) The mother warned the son that she cannot pay him the pocket money.
65. Fill in the blank.
The President paused for a moment and then ;
(1) goes on talking (2) went on talking
(3) gone on talking (4)  goes to talking
66. Choose the appropriate option which best expresses the meaning of the given idiom that is
underlined.
Whenever I meet him he pulls a long face.
(1) looks angry (2) looks cheerful
(3) looks gloomy (4) looks indifferent
Space for Rough Work / d?&g mcm?ﬂé Eg\a*
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Identify the appropriate phrasal verb to fill in the blank in the given sentence.

67.
You are walking too fast. I can’t you.
(1) keep up with (2) keep up from
(3) keepup (4) keep up to
68. In the following question, choose from the given words below the two sentences, that word
which has the same meaning and can be used in the same context as the part given
underlined in both the sentences :
I.  Avinash was the first suspect in that case.
II. The driver decided to tune the engine before going to sleep that day.
(1) major (2)  suffer (3)  counter (4)  prime
69. Match the items in List I with their definitions in List II.
List I List II
a. Adermatologistis i. a disease which causes loss of memory
b. A thermometeris ii. an animal which lives both on land and in water
c. Amnesia is iii. an instrument which measures temperature
d. An amphibian is iv. a doctor who treats skin diseases
(1) a-ii, b-iii, c-iv, d-i (2) a-iv, b-iii, c-i, d-ii
(8) a-i, b-iv, c-ii, d-iii 4) a-iii, b-iv, c-ii, d-i
70. In the following question, there are six sentences marked. S;, Sg, P, Q, R, S. The positions
of S; and Sg are fixed. You are required to choose one of the four alternatives which would
be the most logical sequence of the sentences in the passage.
S;: Ram Mohan Roy was associated with several newspapers.
P: Many educationists protested vigorously against these measures.
Q: But this came to grief soon after the enactment in 1823 of new measures for the
control of the press.
R: He broughtouta bilingual, Bengali-English magazine.
S: Later, desiring an all-India circulation, he published a weekly in Persian, which was
recognised then as the language of the cultured classes all over India.
Sg: Ram Mohan Roy petitioned the King-in-Council in England.
(1) QPRS (2) RQPS (3) RSPQ (4) RSQP
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71,

72,

73.

74.

Arrange the following in their speed of access from fastest to the slowest :
RAM, Registers,
(1)
(2)
(3)
(4)

Secondary storage, Cache

Registers —» Cache —» RAM —» Secondary storage
RAM - Cache - Registers — Secondary storage
Secondary storage —» Registers — Cache - RAM
Cache — Registers — Secondary storage - RAM

With respect to Interpreter, which of the following sentences are “True” ?

Interpreter translates high language to machine language.

Interpreter translates one sentence at a time.
C.

Interpreter does not execute a sentence immediately after the translation.
d.

Interpreter translates entire program into object program at once.

(1) aandb are true (2) a and c are true

(3) a,bandc are true 4) c and d are true

Match the type of tool with their example:

a.  Remote workforce i.. Adobe Sign

b.  e-signature ii. Google Drive

c. Security iii. AWS Cloud

d.  Cloud computing iv. Kali Linux
(1) a-i, b-ii, c-iii, d-iv (2) a-iv, b-iii, c-ii, d-i
(3) a-i, b-, c-iv, d-iii )  adii, bdiv, c-ii, d-i
Expand EDVAC :

(1) Electronic Discrete Variable Automatic Computer
(2) Electronic Discrete Volatile Automatic Computer
(3) Electronic Duplex Variable Automatic Computer
(4) Electronic Duplex Volatile Arithmetic Computer

S——
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71. 633 DT Jens, SOre3d o BYASHVRY o8 Seribod Z900d, JAged ridab Bdr

20eld :
RAM, 833 T° , &80130 X edes, 538

(D
(2)
3
4)

03J o - 53T —» RAM — I80w0 e el
RAM — 53,2 — 03707, — JIBord e edes
J50B0 e edes — 03P o* — 598 - RAM
53F — 08I 0° — JBBowd e ede - RAM

72. R030°E30°TT BowoRIToB 8 BYAS drexd BePsnwy IOdAES ?

a.
b.
G
d.
(1)
(3)

73.
a.
b.
c.
d.

(1)
(3)

ROLIT* LI B, eRyor]eafIor DA w0ttt Ym0V IRDIE.
ROLIT*HEI0TT 2,0TD 2308rT 2,083 BN, Weme0ST SeTBT.

ROLT YO 20m0BT S BB TUBER), 0&BREF IWDIOY.
ROEIT*DEI0N Togeear a!;g)eng,oaigt wowde 200t eseds, Bperoort 2OS3FrD3A.

a ) b IOadaNS (2) a ) ¢ KON

a, b @) ¢ IONS 4)  eada) d 8O

& BYNR esdexf esedpechedn’ L0 & IFT), BJY evoeBnTsadeodr! @eodD WA :

Dtpecr FecPoeate i eddeesr By

@-Ar} eedo’ ii. enet c:_;Jaa‘
Edaraébﬁ iii. AWS 3°c°
5o 60306530n‘ iv. %00 J,J8

a-i, b-ii, c-iii, d-iv (2)  a-iv, b-iii, ci, d-i
aii B, oiv, di W@ sl bdv, i a5

4. EDVAC 3 3,3 dea:

(1)
(2)
(3)
(4)

adaaéfaa‘ a.zbeea‘ Sedoher esedeecheds’ BogyeEso”
ad%faa‘ &&;@eaa‘ dpeed ef esedpecdeds® 60&@5&30‘
cbda'agras‘ daéag’sf, Sedabeer esedoecdheds® ﬁo—d@émc‘
adﬁﬁaa‘ cbéa!ﬂas: poddof eFaheds’ BogyRtso”

VAO2710P224
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75. ICs with VLSI technology are used in
(1)

Second Generation Computers (2)
(3)

Fourth Generation Computers (4)

76. Select the incorrect statement/statements :

Third Generation Computers

Fifth Generation Computers

a. Firewall and antivirus are same.

b. Firewall acts as a barrier between the computer and Internet traffic.

¢. Antivirus is designed to detect malicious software.

d. Firewall and antivirus can be combined to offer robust protection against cyber attacks
(1) Onlyd (2) Onlye

(3) aandbonly (4) Onlya

717.

(1) stores the IP addresses

3)
(4) acts like a firewall

78. Match the following :

a. Linker 1. A software which places the obj
memory into main memory

b. Loader ii. A program that translates
machine code

c. Compiler iii. A software which links modul
together

d. Interpreter iv. A program that translates an in
program and executes it immedig
next instruction

(1) a-iii, b, c-ii, d-iv (2)

(3) a-ii, b-iii, c-iv, d-i (4)

The NIC — Network Interface Card is a hardware device which

(2) connects a computer to a network, both functionally and physically
stores the IP addresses of the computers in LAN

ect code from secondary

high-level source code into

€S Oor program segments

struction of high-level
tely before translating

a-iii, b-ii, c-1, d-iv

a-iii, b-i, c-iv, d-ij
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75. VLSI 303203 863 o & nvay, RO WY,

(1)
(3)

VBT 3ert ressabozrivd (2) Swdle dedrt nesabod R
Joe), e dedrt rieasabo3riwd (4) ogIe dedrt reasoboB)iwd

76. 3E0 BeVS/BVBRVRY RHThdd :

a.

Firewall &3 Antivirus w0t dogaR) areadds.
BoFRET* DR) woBserony Sa Firewall 3d rieedodro soobe IS BT,

b.
c.  Antivirus 80zR,t30° 3OS malicious software 0B B0ReE30° O~ CFHIT.
d.  Firewall 33 antivirus o) wenf svagodeeNd cyber attack 19od 33, 388 Sdabwadd.
(1) d a3 (2) c &3,
(3) adR)b I3, (4) adn3,
71. NIC - S5 RO HoTF) R WVRBHET.

(1)
(2)
3)
(4)

78. @RODA TALO :

0 S JVITNYY, Feaden
BoRPREI0* JEFT5E O odred BevoN Forie LR 3z ToRSFDIT

S (LAN) O3 0 d IVRNYRY, Teaddw
P 00 Oed FoahF S EeD

endet, Bpediny, BB eetpeddnos B,E0 ahateedrt Srmordbda

a. ©os0° 1.
303903

b, edeedcs i 3, I et dpect o) AR S deedt BOBIERDS
B03,08/33)eM90

c.  BoB0f i, ROV EBE B0 RBBAVR) LetBRIS Boz03

d. @otv°BET’  iv. B, et gt o) BAT S yadt wotd g, wod
o BOBIrD, © TBER) OYBLLF BRBT FoBT RWOBS TeEIR
SOB3FRS Z0B03

(1) a-iii, b, c-ii, d-iv (2)  a-iii, b-ii, c-i, d-iv

(3) a-ii, b-iii, c-iv, d-i (4)  a-iii, b, c-iv, d-ii
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79. Which function is used to enter the current time in a worksheet cell?

(1)  =Today()
(2) =Now()
3B) =Time()

(4) =CurrentTime()

80. Word Processor is an example for
(1) Hardware
(2) Application Software
(3) Firmware
(4) System Software

81. Choose the advantages offered by digital signature.
a. Identifies the signatory
b. Maintains integrity of signed data
c. Prevents forgery or impersonation
d. Encrypts the data

Choose the correct answer from the following codes :
(1) bandconly

(2) aandbonly

(3) Onlyd

(4) a,bandc

Space for Rough Work / dzag !no.’nrdo ag\*

VAO2710P224 (20-A1)

www.shikarat.com




79, 253 BT 1 BYAR olres Poge® wed & ges Aoy SaweBrRRD ?

81.

VA02710P224

(1)
(2)
3)
4

=Today()
=Now()
=Time()

=CurrentTime()

S FRRTO® 8 BYNS wdreg)dy, evmesds ?

(1)
(2)
3)
(4)

HorFrJeT*
03B Togleok
DFTe0t

&;go m@aﬂeo‘

Digital signature J0G srba soleeamniva s0s:

a.
b.
¢

d.

Signatory ©R) 38 BJuBD
Sign S780 BeenTY BT Sredodond &30 SRIBRFIMD

=8ew (Forgery) >3 Impersonation o) SBRLWBD

deesozdxy Encrypt S PIE AL AIAY

& 8YNS sohnvos B0ired VBB, HTHAD :

(1)
(2)
(3)
4)

b &) ¢ &)
a D) b 39,
d 353,
a,baa@c
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82. 192.168.0.397 is an invalid IP address because:

a.
b.
A

d.

It starts with 192
It has 0

It has a number less than 500

Any octal number cannot be more than 255

Choose the correct answer from the following codes :

(1)
(2)
3)
(4)

83. In Microsoft Windows the file names may contain maximum up to

Only d
Only ¢
a and b only

a and d only

characters.
(1) 199
(2) 254
(3) 255
(4) 234
84. A____in the network security takes place when one entity pretends to be a different
entity.
(1) Replay
(2) Modification of messages

(3)
(4)

Masquerade

Denial of service

Space for Rough Work / 8w saabed, ajw
@
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g2. 192.168.0.397 333 o & 58030,
a. 192 003 B srvzws
b. 9& VIR 0
c. womd Josk 500 §,03 QD w3
d. obegde szer (octal) Tosd,odw 255 &,038 @BeyNTIOD
8 3YNS esad),rvod Jdairea VZ0T HDSID :
(1) d3n3,
(2) c 33,
3) azdRb I

(4) aad3d3e3
b, B eaas, Jodeedt BoTy0BTY, F,0° FIDIVT WG 07 ST

(1) 199
(2) 254
(38) 255

(4) 234

84, Rerdss TBRO3aLY 200 Qoedtd @R dotdtiadeN SSFATT 3.

(1) oge
(2) PeeldBe3F 85’ Dde®

(3) ab‘aaieddea‘

(4) Beaber e BT
— Space for Rough Work / ey, Sooded, Y
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85. Based on the “access time”, arrange the following in ascending order :

a. SSD
b. HDD
¢ Main Memory

d. Cache Memory

(1) d,b,ca (2) a,b,cd
@) d,cab (4) c¢d,ab
86. Which of the following is true with respect to Read Only Memory (ROM) ?
a.  Data stored in ROM and PROM chip cannot be altered by user.
b. A user can erase data from EPROM.
c. EEPROM is also known as flash memory.
d. In EEPROM data cannot be erased.
(1) aand c are correct
(2) Only b is correct
(3) candd are correct
(4) a, band care correct
87. The core qf an Operating System (OS) is known as :
(1) Shell
(2) Kernel
(3) MS-DOS
(4) Console
88. In an E-R diagram, double lines indicate
(1) Cardinality
(2) Total participation
(3) Multiple participation
(4) Single participation
Space for Rough Work / B, SoabFsd, Qv
v g
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g5, BT U35 50T eet B BYARYRVRY £08 BHTQ eedd oD :
a. oo a
bh. OB
c. oD DHed
d. &F DdRed
(1) d,b,ca (2  ab,cd
(3) d,c,a,b 4) c¢d,ab
86. 0ecs L) D0D (ROM) 1t "owoBRB0D, & SYASINYE aireae) FOairena ?
a.  ROM &3 PROM 8z 39 Beadrent decsnaiah, 2B0adIw To6I0.
b. EPROM RQ Zeadzunsd e wvsmes e9dsese T dd.
c. EEPROM &) & & a8 oo 8daine3o.
d. EEPROM R Ze2d3wen deenan) @9dmose) Togde).
(1) aaa)c B3OS
(2) b &3, FBAAS
(3) cR)d SBAAS
4) a, baA) c IOBAS
87. o@Seedort TS (OS) & Beed® dorTesd ?
(1) e
(2) B8I3cef
B) oooxr-wa*
(4) BordeecS
88, E-R Goiermas 8O oom Jarermeods Jeslrivh oxd), o3 ?
(1) melrmeded
(2)  ednesser DeedrdBean”
@) OB DtdrdBeB*
(4)  donef meedrdTead”
e S
Space for Rough Work / 8w, 5008, By
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89. Select the correct statement/statements :

a.  Microsoft Edge, Safari, Adobe Flash, Google Chrome are examples of browsers.

b.  Mbps stands for Mega bytes per second and MBps stands for Mega bits per second.
2 GB = 1024 MB

d. Ubuntu, Red Hat Enterprise Linux, and Windows XP are examples of Operating
Systems.

(1) aonly

(2) bandd only

(3) aandconly (4) donly
Section 65 of IT Act 2000 deals with :

(1) Tampering with documents
(2) Hacking

(3)  Acts of cyber terrorism
(4) Using other person’s email ID
91. Match the following List I and List IT :
List I List IT

a. Auxiliary memory i. EEPROM
b. Impact printer 1. Laser Printer
c. Flash memory iii. Dot Matrix Printer
d. Non-impactprinter iv. HDD

(1) a-i, b-iii, c-iv, d-ii (2)

a-iv, b-ii, c-i, d-iii
(8) a-iv, b-iii, c-i, d-ii (4)

a-i, b-ii, c-iv, d-iii

92. State whether the following statements are True or False with respect to Database
a. Aview is a single table that is derived from other tables.
b.  Data in views are always physically stored.
(1) a-True, b—True (2) a — True, b — False
(3) a-—False,b—True (4) a — False, b — False
Space for Rough Work / 8wy, soabeg, Jv .
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g9, RO BeOH/BeOBvRY esayzron -

a.

DELT, o, A, wdewr gy, e deedf @Iiw IS S
wmaﬁdﬁﬁwﬂmaa

Mbps 2003 2 o3, B0k Wdows vy MBps odd dbrm D, B0° JFoT.

2 GB = 1024 MB

SUA0ED), B Ty e caoe,sc‘a_,jdaf ORI, DB Jodees XP amnw eadedort HIJEF e
SUTRBOBAW.

(1) - a=ng, 2  baddang
8) adA)c I3, @) dang
90. IT Act 2000 BERF 65, 81 SYA oodica, BowodIS ?
(1) w80 ORY E39,0B0° BB
(2) T BRI
(3) R0 Podeeme B0 BHINW
(4) Wede) O acheer ID S evzadeeADJPD
91 BYRS B¢ [ D) Bed 1T oY Bod :
e 1 e I
a. @308 Ded i. EEPROM
b. @omys, 30T i, 3em0f &oe30*
c. D DH3ed i, @oEs BB, Boes0k
d.  Serr-Ro@mys, oL’ iv. HDD
(1) a-i, b-iii, c-iv, d-il (2)  a-iv, b-ii, c-i, d-iii
(3) a-iv, b-iii, c-i, d-ii (4) a-i, b-ii, c-iv, d-iii
2. moezeedesrt WowodIT 8 BVNS BePBrvY A XD, e B, o HTHAS :
a8 @ Q0w KVYB e3eper MPod BYa° SPBUNDE 20w teer SsATHTT.
b. T, SODS oI T2 P 3BTN BorjBRQEHIT.
(1) a-w0,b-0 (2) a-30,b-3g,
€)) 3—33‘!),1)—?58 (4) 3—37-'32,,1)—{53&
‘-—-.__________ e
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93. Name

First Name Middle Name Last Name

“Name” attribute in the above is an example for _______type of attribute in database table.
(1) Simple (2) Composite
(3) Multivalued (4) Derived
94. Find the decimal equivalent of the octal number (127.54);.
(1) (94.6489),, (2) (87.6875);,
(3) (91.4956),, (4) (88.1459);,

95. Select the correct statement :

a.  Valid numbers in binary number system are ‘0’.and ‘1’.
b.  Hexadecimal number system does not use the letter ‘F’.
c. Octal number system has base 8.

d ABCZH9 is a valid hexadecimal number.

(1) aandbonly (2) . bandd only
(3) aanddonly (4) a and c only
96. Match the following List I and List IT :
List I List IT
Layers Packet Names

a. Application Layer i.  Bits
b.  Transport Layer ii. Message

c. Network Layer iii. Frame

d. Data Link Layer iv. Segment/User datagram

e.  Physical Layer v. Datagram
(1) a-iii, b-iv, c-v, d-i, e-ii (2)  a-ii, b-iv, c-v, d-iii, e-i
(3) a-i, b-iii, c-iv, d-ii, e-v (4) a-iv, b-i, c-ii, d-iii, e-v
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93. BID
St BID thjd BID gndad ZTVD
8 2HedN LVEABTBADLEY “BID" Qo odrea SoBE eedeae s RS ?

(1) Qdozef (2) Bo0PedLF
(3) DOz’ (4) @Y
94. (127.54)g s8¢ Jogkod Bddzherrt dareo30 dosl; aredcd ?
(1) (94.6489),, (2)  (87.6875)
(3) (91.4956),, (4)  (88.1459);,

95. ROT DIFNYRY, HDASR :
a. ;30 Sowdt FBJah 0’ D) ‘1’ osriwd BN,
b. B5EIDf Sowd® F@Fahe F oY, evaaleeNhHBe).
c. @3¢ Jowd® FSJab ek (Base) 8 sAHBT.
d. ABCZH9 2.0t 357 85 Bdehef Sowo* 8Nd.

(1) aadb3g (2) b3 daRI
3) aadA)dan (4) adB)c33
96. 3VNI 33 [ DD Be3, 1T oD, @0 :
e 1 ey 11
efeado 7T &3 365 BOATR
a. ©38e3 Jeodhot i, e
b.  t3aF,3eeest Jeabot i, DeF
c. Sese Jeabof iii, Pef
d. Qe oz Jeahof iv. &rfaboes’/oddo’ metmyaF (Segment/User datagram)
e. SABF Jeadof v. weemaF (Datagram)
1)  adii, biv, c-v, ddi, e-ii (2)  adii, b-iv, c-v, d-iii, e-i
(3) a-i, b-iii, c-iv, d-ii, e-v (4) a-iv, b-i, c-ii, d-iii, e-v
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97. Match the following :

a.  First Normal Form i.  Full Functional Dependency
b.  Second Normal Form ii. Atomicity
c. Third Normal Form iii. Non-trivial Functional Dependency
d. BCNF iv. Transitive Dependency
(1) a-i, b-ii, c-iv, d-ii (2) a-ii, b-i, c-iv, d-iii
3)  a-i, b-ii, c-iii, d-iv (4) a-iii, b-ii, e-iv, d-i
98. Match the following List I and List II :
List I List IT
a.  Co-axial cable i.  Cable covered with metal foil
b.  Unshielded twisted pair cable ii. Cable uses copper wire
c.  Optical fiber cable iii.  RJ45 connector
d.  Shielded twisted pair cable tv. Transmits Data in the form of light
(1) adii, bii, cdv, d+ (2)  aii, b, c-ii, d-iv
(8) a-ii, b-iii, c-i, d-iv (4) a-iv, b-iii, c-ii, d-i
99, IP addresses use 8 bits for network and 24 bits for host.
(1) Class A (2) Class B
(8) ClassC (4) Class D
100. Which layer functions as the Dialog Control and Synchronization in OSI model ?
(1) Presentation layer (2) Network layer
(3) Session layer (4)  Data link layer
Space for Rough Work / dza'.;‘ U?Q'i)‘r'ﬂﬁ |
P
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97. @poBD WIAD :
a. I JaDFeF edo i. P Poger BBoBA)

b. ‘BorF SedrFer Fedo ii.  e3edpddel
c. B Joeef Fedo iil. o eddabesf Pogse, Baord),

d D3 oz iv. s B30l
(1) a-i, b-ii, c-iv, d-ii (2) a-ii, b-i, c-iv, d-iii
(3) a-i, b-i, c-iii, d-iv (4) a-iii, b-ii, c-iv, d-i

98. BYNS 3 I DR Bed 11 D), BoodS

=20 e IT
a. dpe-edobher Sewer i Bewer 3TTF AF° e HoaobeF
b. ©IJderr 3T Jeo® Bewesr ii. Bod0f F;0F wYRbSS
c. BB 0" Sewesr iii. RJ4583580°
d. 2erF 33 Jeo* Sewer iv. WY3S Ce3TO Betdd TSI
(1) a-ii, b-ii, c-iv, d-i (2) . a-ii, b-i, c-ii, d-iv
(8) a-ii, b-iii, ¢, d-iv (4)  a-iv, b-iii, c-ii, d-i

99. IP Jvernwd Se*as’rmeN 8 Desnwh ahd) @ees’mef 24 QITVRD, WYDIS.

1) o @) s D
(3) &R R 4) BB

100. & o © RGO & SYAR aIrd Seabot “Byart Sordpeer Shd) dodeedea VTR

SRS ?
(1) ITotdexds* Jeado® (2) ReFse Jeadof
(3) B Seobok (4) decso OosF Jeado*
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